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EAAH

Instructions to Contestants:

1. XEEHE Ad#@ i alEEAJEGE -
Each contestant should have ONE Question-Answer Book which CANNOT be taken away.
2. AKEH5[E#HE  SHES6E - H30E §FESD - B0 15070 SEAD -
There are 5 exam areas and 6 questions in each exam area. There are a total of 30 questions in this

Question-Answer Book. Each carries 5 marks. Total score is 150 marks. No points are deducted for
incorrect answers.

3. BREXRSE EEH L -
All answers should be written on ANSWER SHEET.

4. EEHE  ABEHEELE -
NO calculators can be used during the contest.

5. XERFRAEBEA—TEMKEAIER -
All figures in the paper are not necessarily drawn to scale.
6. CEETENR  Aa@EgwU(o -
This Question-Answer Book will be collected at the end of the contest.

Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. Marks will NOT be given for incorrect unit.



BEERETE EBA -
All answers should be written on the ANSWER SHEET.

e RE AT HZE -
THIS Question-Answer Book CANNOT BE TAKEN AWAY.
AEEZEERE  UZ7EREE  SRIZEERAJBERBUEERS -
DO NOT turn over this Question-Answer Book without approval of the examiner.
Otherwise, contestant may be DISQUALIFIED.

FURBENEBER  Eif8ERENE  SREAEDHITNE - ST EERSH/NE - SHRBURKABTEOOEH -
Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. Marks will NOT be given for incorrect unit.



BEERETE EBA -
All answers should be written on the ANSWER SHEET.

IHZERE (512 30%8 ) (BB BHEAEBEAHD)
Open-Ended Questions (1%t ~30™) (5 points for correct answer, no penalty point for wrong answer)

Logical Thinking
Zug DA

1. Ais gof C,Bis %of C. If the value of B is 400, what is the value of A?

A%CE’\]% 'B%CE’\Jg U B 2400 - KA HIME -

2.  Fruits are shared among students in class 5A, including apples, pears, oranges, strawberries and kiwis.
There are 1000 fruits of each type available. If each student picks two fruits randomly, at least how many
students are there so that we are sure that two students picked the exactly two same fruits?

SAIEIENZKR - AR R - E5NETERLGE - &S 1000 B - IRBUBEERE
ZME - PEELZDVURB2BET —EFHEMAZHKREZMRE -

3. Ittakes Amy 10 days and Fanny 8 days to complete g of a task; it takes Amy 15 days and Fanny 17

days to complete % of the same task. If Amy and Fanny work together, how many day(s) are needed to

take for to complete the task?
—IBTAE - X 10 K& ~ /NFSREEIEM 8 %ﬂu%ﬁiﬁéﬁl&ﬁ@g ; /AN 15 K~ NS
2

REE®MW 7 %ﬂb&%ﬁﬁéfﬁlﬁﬁ’ﬂg s BRI NERMAGIFEREN ITEFTEZ DX ?

4. Thereis acar. In order to travel % less the distance in half of the travel time, what would be the

percentage increase in speed to achieve the goal?
REB—FAE - %E%EE’\J??%EEE%E’)% BTSRRI RAR D — - BREEIENZ /D ES
o ?

5. David attended 4 English tests and attained an average mark of 82. David wants to improve his
performance and hopes to get an average mark higher than 85 after attending the 5" test. At least how
many mark(s) does he need to get in the 5" test? (All test marks are integers)

MBS 7 4 RESCHBR - 0 E 82 7 - NEOLRBESEHCOHELE B EY - IUFEECES
5 AR Z BTN 2SR 85 10 - IEMSESAXRAREVEESZ DD ? (Ao ER 0

6. How many integer(s) should be selected from 1 to 100 (1 and 100 inclusive) so that there must exist two
of them whose product is 720?

FURBENEBER  Eif8ERENE  SREAEDHITNE - ST EERSH/NE - SHRBURKABTEOOEH -
Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. Marks will NOT be given for incorrect unit.



BRHEERRTE EEH L -
All answers should be written on the ANSWER SHEET.

£ 1 £ 100 35 100 fEE1P ( B35 1 & 100 ) &P B2/ MEZREE - TS EE DB M EE 2 RKia
&= 7207

Arithmetic
Sy

7. Find the value of 2x51x98x2015.
5K 2x51x98x 2015 FY1E -
1 1 1 1 1 1 1
+

8.  Find the value of l+—+—+—+ +— +—
6 12 20 30 42 56 72 90

wi 1,1 1t e
6 12 20 30 42 56 72 90

9. Find the value of 0.%é+ O.i3é+ 032 (Express your answer in recurring decimals)
50.76+0.135+0.326018 « ( BELUER/N#FT )

10. Find the value of 85% —81° +77%—-73° +69° —65° +...+5% —1°.
K852 —81% + 77% =732 +69% —65% +...+ 5 -1’ 91H -

1 1 1 1
+ + +...+ .
3x6x9 6x9x12 9x12x15 42 x45x% 48

g+ Lt v i1 wm.
3x6x9 6x9x12 9x12x15 42 x45%x 48

11. Find the value of

12. Find the value of 2016x726—2017x725.
SK 2016 x 7262017 x 725 1B -

FUBRBIENERER  BfEERENE - FRAKENHATHY - ARAEERBMNE - EREBEURSALTETOE -

Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. Marks will NOT be given for incorrect unit.



AR

TERE BEH L -

All answers should be written on the ANSWER SHEET.

13.

14.

15.

16.

17.

18.

=
=]

Number Theory
E

In the following sequence, find the unit digit of the 2015™ number.
ELUNEAP - H S 2015 EEFAIENT -
1,3,4,7,11, 18, 29,47 ...

Two factors are chosen from a natural number. If the largest possible sum of the two factors is 11682 and
the least possible sum of the two factors is 3, what is the natural number?

AREEARY - LEREDPMEARRERZEN - ZA&x/NJLUZE 3 - &ACILIZ 11682 - %
BREEZ)?

Find the value of #1 (Express your answer in fraction)
3+ 1
S+
23
. 2 o s _
K S H1E - ( BEUDEFRTR)
3+ 1
S+—
23
There is a natural number. The remainder is 11 when it is divided by 12. The remainder is also 11 when it

is divided by 35. What is the remainder when it is divided by 10?
FREBAEK 12 FRER 11 - 2 35 BRINER 11 - SKEER B AR 10 BRAVEREL -

Find the integer closest to~/2015 .
SR BRI /2015 FOERE -

If the product of a positive integer a and 211,140 is a perfect square, find the smallest value of a.
—E1EEEE) a B2 211,140 HREZ— B2 FHE - Kal&/NME -

WRBIELHNERESR  BifEERENY - SEAREDEEHTNE - R REREH/NE - EREAUSALTFETDH -

Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,

decimal figure is also accepted. Marks will NOT be given for incorrect unit.



mERERRE BEM £ -

All answers should be written on the ANSWER SHEET.

Geometry
Ze1a]

19. There is a rectangular paper with length 22cm and width 14cm. Then the paper is folded its upper right

corner to the lower edge and is folded its lower left corner to meet the first triangle as shown in the figure
below. Find the area of the shaded region.

A—RR 2 ERK - R U4 BRNERSEAR - ELEPNEAEEN A LBENME - BIEAL
BELINE - KEFEIRER -

= =

Question 19
%19 &

20. Refer to the figure below, the length of the edge of each smaller cube is 3. Find the volume of the 3-D
figure.

ZEME - SRELESENEREE 3 - SKIIIRES -

E "

Question 20
%20

21. The figure below shows a triangle AABC which areais 525cm?®. If AD:AB=1:5, BE:EC=1:4,
CF:CA=1:5, find the area of ADEF .

— A AABCHEEE 525 /5 EK - AD:AB=1:5 BE:EC=1:4 -+ CF:CA=1:5 : 5K ADEF Y
H7S -

FURBENEBER  Eif8ERENE  SREAEDHITNE - ST EERSH/NE - SHRBURKABTEOOEH -
Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. Marks will NOT be given for incorrect unit.



BEERETE EBA -
All answers should be written on the ANSWER SHEET.

A
D
F
B E C
Question 21
$21 8
22. Itis known that the area of AABC is 2016. If BD=DC and AD =3DF, find the area of quadrilateral

CDEF.
=41 AABC WEIEZ 2016 - HBD=DC - AD=3DF - kX[:£/2 CDEF FWE*E -

A

D

Question 22
F28

23. 6 equilateral triangles are formed by cutting a regular hexagon. If the perimeter of the hexagon is 144cm,
find the sum of the perimeter of those 6 triangles formed in cm.

—EIESRNEEHE DAL 6 BFE =B - NBEENARE 144 EX - B =—A/ENEREEZ D
JE=b

24. At most how many line(s) can be formed by using 20 points on a plane?
fEFE EE 20 B B OERZDERER ?

FURBENEBER  Eif8ERENE  SREAEDHITNE - ST EERSH/NE - SHRBURKABTEOOEH -
Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. Marks will NOT be given for incorrect unit.



mERERRE BEM £ -

All answers should be written on the ANSWER SHEET.

Combinatorics
HEEE

25. The figure below shows four areas linked by lines. By using 7 colours, how many different way(s) is / are
there to paint the areas if adjacent areas cannot have the same colour?

BT1EEACH NE 4 BELELAS  NIRWEREZNELNERBAERR B2 VEERT
=7

Question 25
25 25 &

26. From 2015 to 5000 (including 2015 and 5000), how many number(s) is / are divisible by 2, 5 or 7?
2015 2% 5000 & ( £23% 2015 A1 5000 ) - BE# 2 ~ 5 5L 7 BERWEFAZ/DE ?

27. In the diagram shows a map. If it is allowed to move upwards or rightwards only, how many way(s) is /
are there to move from A to B?

WMRVEARERIBF - BLReem LkmaE - HAZVEEE?

FURBENEBER  Eif8ERENE  SREAEDHITNE - ST EERSH/NE - SHRBURKABTEOOEH -
Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. Marks will NOT be given for incorrect unit.



BEERETE EBA -
All answers should be written on the ANSWER SHEET.

28.

29.

30.

Question 27
$21 &

Primary Five students have reserved a number of barbeque grills for picnic. 4 students will have no grill
to use if there are 8 students in each grill whereas 3 grills would be spared if there are 12 students in each
grill. Now if two extra grills are rented, how many people, on average, are distributed in each grill?

TFREBERT WEHEE TETEERE - NIREZENHEAE  HE 8 AMER—EEEE -
AlE 4 NiEDA RS  RBRENE R/ HEE 3 EEEE - AlZEE 12 AR —EERE - NRMEE
% 2 EEEE - BREEEE 9 UHZ D ARA ?

Eric uses four numbers “17, 27, “4”,”5” to form a 5-digit password. (Every number will be used). How
many different password(s) can be formed?

NAR T1"2,-T4, 75, BIUEEFHER—EAUENES (BEHFIESER ) —HJL

R ME AR ERS 7

If 20 bottles of orange juice are evenly shared by 15 students, each student gets 75mL; if 16 bottles of
orange juice are evenly shared by 9 students, how much orange juice will be shared by each student in
mL?

GASRIE 20 ARAEOTI9 D4R 15 A - BA D D1S 75 271, MIRIE 16 B T 9058 9 A - BAT

HEBVET

- 2ER -

~ End of Paper ~

FURBENERER FEERENE - FRERENENTNE - WA BEREN/NEY - BREMASALTETIE -

Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,

decimal figure is also accepted. Marks will NOT be given for incorrect unit.



